. The child, thinking all 'waa eafe
~ (Use the correct tense form of the verb in brackets)

Thlrd Semester B. AJB Sc Degree Exammatlon January 2023
Fn‘st Degree Programme Under CBCSS |

Languago Course Engllsh
EN 1311. A/EN 1311 3 : ENGLISH FOR CAREER
% (Commen for B.A/B.Sc. & Career Related Group 2(a))
o (2019 Admission Onwards)

) Tim'-"a'-HoUrs A - Méx.Ma’rks:ao_.[

. '.'Answer all the followmg questuens Follow the mstructlons glven in the brackets
.wherever needed S . o

~The correct spelhng of the word ‘blscut‘ is -

The word that-ls the anlonym of callous is

. :_ Give a synonym for the word deeeptwe

. _What s ———————— (breed) in the bone WI|| not wear out of the flesh. _
_ (Use tha correct tense form of the verb in brackels) ‘ : .

- The adjectlve form of reluclanoe is

The word mtncate s synonym for

PTO.

e Po3set

(attempt) to cross the road '




' - I'm havingj _e'adme_ 'trou_ble-_work out the solution to this equetion. -

| _ (Underline the error) -

o
(a) Calle_d out
(b) Calledin -
(c) Calledby o o
(d) Called off I coe (10 x 1= 10 Marks)

11

' Mr. Prltchard has been to Sootland recently, ———'?_- -

[Complete the sentence W|th a queshon tag}

They' ve —_— the meetmg (Use the: appropriala phrasal verb)

. Answer any eight of the following cjuestlons

_--mede one-word sul bstltutes for any two of the phfases

. (@) Anumber of fish swummmg together

12,

® Essiysetnfie
(c) 'iﬂahmelymanner ' o - .

(d) Protected agamst diseases

_ lee the antonyms of Iwo of the followmg words

(a) genuine

" (b) coarse

13

: (c] bousterous

: Make sentences of ynur own with any two of the followwng phrasal verbs

(a) clamp downon .

“(b) fall through )
I(c_) meke.up '
- (d) stick up for

2 - P-3561



14. Choose the oorrect optlon from those given in-the brackets
~ (a) The four men ———— towards us: (is walkmgfare walkmg). '

" (b) The old woman — clothes for a iving. (makesr‘meke)'_ B

15, Fillin the blanks using a collectlve noun from Ihose glven betow
o (pack deck, herd, ohest team’} ' '

_'- (a) He hid thls secret dlary In a-

(b) | spotted 8 ————— — of wolves at the sanctuary

- of drawers in his room.

16. Usethe oorrect tense of the verb mthe bracket

(a) We (has Iwe) here for ten years.
(b) l_ (reoelve) hls leﬂer a week ago. _ _
- 1'_7.'_' Frlt |n the blanks usmg the surtable degree of the adjeotlve gwen in the brackets
: '(a) Lead is ——-——— than other metals. (heavy) |

of all ammats (t‘ erce)

(b) 'The tiger is the -
Correct the emors in the words glven in Itallcs ‘

18. (a) Itis recommendable that you charge the moblle phone before ﬂrst use.
" (b) Kindly note our address for all fedher communlcatlon ' '

19, (a) She vested all her time in c_hat_ting and did not_ﬁnd‘the.;time to complete her

work.
() In case of a Iand duspute, the officials wﬂl determme how the property is to' '
be drvidend . _ _ o :
20, Fillin the blanks wrm sultable words from those given in brackets :
# _ _ (obtain, assrm:late perennial, develop) -
~ltis your duty to train and —————— your mind end acquire knowledge, as
f% - much knowledge as you possibly can —————— Knowledge is like a deep '
- © well, fed by ——————— springs, and your Mind is the little bucket that you dnop

into it : you will get as much as you can - _ _
| 3 . - P-3561
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21

22,

: (a) E:ght dollars

- Choose the correct option from the brackets :

the pnee of a tlcket (lsfare)

'(bj | be heneured to attend the functlen (shaﬂ!would)

Fill in the btank_s_with the 'approprt_ate word from th'e__ b'rac_ket_s :

'.('before' quite, never, well, once)

(a) These mangoes are —_— ri pe.

_ (b) _He———-—metmemCalre _

2

24,

'Use the eorrecf tense of the verb in the brackets
(@ The tempest
G

~ the ship ashore. (blow)

ovver the fence, the thlef eseaped Gump)

o Read the paragraph and answer the questlon given below :

The National Inshtute of Oceanography (NIO) in- G developed a real-tlme'_
‘reporting and Intemet accessible coastal sea-level rnonltoring system which has
been operallonal since 2005. The gauge uses a. cellular modem to put on the

~ internet real-t|me sea-level data. By using a cellular phone network coastal

- sea—lewal changes are continuously updated on to a web-server. The sea-level
'gauge website can be made avallable to television channels to broadcast

real-time vusualtsatlon of the coastal sea level, partlculaﬂy during oceanic

hazards such as storm surges er a tsunami. A network of such gauges along the
coast and the |slands that lie on either side of the mainland would provldu;htn to
~ disaster management agencnes to dissemmate warnings to coastal eommnlﬂes '

and beach tourism centres.

(a) What is the functlon of the NIO's gauge‘?

~ (b) Comment on an addltlonai beneflt of such gauges

4 - p-3561




A sanctuary may be deﬁned as a piace where Man is passive and the rest of
: 'Nature active. Till quite recently Natura had her own sanctuaries, where man

. gither did nat go at all or only as a tool-using animal in oomparatlvely small

- numbers. But now, in this machinery age, ‘there is no place left ‘where man

: ~ cannot go with overwhe[ming forces at his command He can strangle to death all
" the nobler wild life in the world today Tomorrow he certainly will have done so,

o unless he exercises due foresrght and seIf—eontmI in the meantime. B
"_(a) What predtctlons do the: author rnake regardlng the fate of sanctuanes'?

*{b) Identify the word in the passage which means the following : the ability to

28,

pradict what wnl! happen or be needed in the future?

The first and most lmportant rula of Legitimate or popu!ar govemment, ﬂ1at is to

- say, of government whose object is the good of the people, is therefore, as |

_ have observed, to follow in everything the general will. But to follow this will it is
~ necessary to know if, and above all to distinguish it from the particutar will, -

beginning with one’s self: this distinction is always very difficult to make; and only
the most sublime virtue can afford sufficient illumination for it, As, in order to will,

itis necessary to be free, a difficulty no less great than the former anses - that of

B pr&emng at once the pubiic liberly and the auﬂwnty of govemment

o _'(a) l-low does the author daacribe a Ieglumate or popular govemmant? |

.

(a) He had asked: you to —

~ (b) Whatis the one virtue thet_ls necessary for the péopfe td be in a position to

make Icnown their wﬂl? :
o : (ax2=16 Marks)

‘Answer any six of the fOIIoMng'_dueé_tIQna. e

Fill in the blanks with the correct option :

- your ansvirersi hadn't he?

- (mail him/mail to him) S -

(b) The manager —————— all the claims of the employee and dlsmassad
: hnm (reputed, refuted) -

3 (f-;) —————— prices cause hardshnp to the poor (Escalahng!Exatmg)

(d) I like Ashley a lot, she’s avery person. (denying/dynamic)

5 - |  P-3661




31, Fillin the blanks with suitable pronbuns -

. _ .(b) | really like watchmg old shows

28 Fill in the blanks wlth swtable phrases from those gwen in the brackets
(ran out, tear up, put up, | set up, wore off pass out, cut back letin, go out), '

-on sweets

- (@) My doctor wants me to
(b) -We

(c) The effects of the sedatwe
wuth hls attituda .

of shampoo so [ had to wash my halr with soap.

after _a few hours.

' '(d) I cannot -

‘_ 29. Correct the errors ln any four of the followmg sentances

. _-_(a) _Ei ther my mother or my father are. mmmg to the meeting.
! "(b) George and Tamara doesn’t want to see that movie. i
(c) Your pants is at the cbeaner's . S

(d) One of my sisters are gomg ona trrp to France
' '(e_) . 'Thare was fifteen candies in that bag.

30. Cornact tha error in the section ln |ta||cs in any four of the followmg sentences
(a) How a beautrfu! bnde she made!
: (b) Whaf does he think he is!
(c) | So p;g eyes you ha\gel .
(d) Wow, that hurts! .
(e) That soup was how delicious! |

(@) My grandparents live in Berlin. We visit often.

onTV. _
(c) I'm always talking to —

(d) 1don't recognize the song — is playing.

PR . p-3s61

‘are some of the best thmgs




- 32.

'-'Correct the error tn the words in llaltes

(a) My kntfe is sharp than yours

- '(b) Tmth is strange than fiction. o
~ (c) Ho is the idler boy in the class _
'(d ) Bangladesh has the l'arge tea garden in the world._ '

33

Fill m the blanks ‘with suitable words from those given in brackets
(allmcnts strength suffer, harmony tensron recovor tackles outllned) o

_cha is a series “of physical axarcises that use the body and mmd to create_ _

and health within yourself. Yoga allows you to gain

_ calmness and flexibility while relieving stress and ———— from your body
* About 2000 years ago in India, a wise man, Pantanjali, ————— the system
for Yoga. In his writings, he exptains how Yoga ——--_— both physical and
. emotional —————— Yoga can not only help you —————— from a

(b) You can have an ice cr'earrt

physical condition but it also can help ﬂ'tcse of us who -

- from anxiety
or depression. ' o

Fill in the blanks with the suitable conjundtllon
(a) He ran away ———hewas afraid.l

a brownie sundae.

~(c) Our hoard is little,, ——————— our hearts are great.

_.(d) He is ——-—-——-——foollsh

stu bbom s

Rewnte the sentences replacmg the ltallclsod words wlth the appropnate ward'
from the brackets . _

(cosmopolitan, a cartcgrapher. a recluse. an octogenanan a polyglot an athelsl .

an optimist, an |mm|grant)
- (a) Itis not easy being a forefgner who comes to setﬂe in the USA

_(b)_ My grandpa is eighgr years old.

{c) | took up Spamsh to become someone who speaks more than one_

_ language

~ (d) We need a parson who makss maps or charts to decoo'e these cryptrc '

maps. _ ) ,
T 'P,—3561
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a7.

Read the passage and answer the questlons gwen below

‘The Indian Army is the land- based branch and 1he Iargest component of the
indian Armed Forces. The President of India is the Supreme Commander of the -

|ndlan Army, ‘and it is commanded by the Chief of Army Staff (COAS) ‘who is a

 four-star general. Two officers have been conferred with the rank of field
" marshal, a five-star rank, which is a ceremonial position of great hionour. The
“Indian Army ongmated frorn the armies of the East India Company, which

eventually became the British Indian Army, and the armies of the princely states,

which finally became the national army’ after mdependmoe The units and
."_reglments of the. Indian Army . have diverse histories and m,parhupamd ina
number of battles and campaigns across the world, eammga; Iuge nurnbar of

battle and theatre honours before and after Independence S

]

i vt A T,

@) Idenﬂfy a word from the passage that means ‘a part or elémﬁ af a larger

~ whole’. e
(b) Usethe word ceramomal' ina sentance of your own.

. {e) Who commands the Indian Army?
(d) Trace the origin of the Indian Army.

The trend toward oommodrﬁcatlun of hlgh-brow art took an omirous, if

~ predictable, ‘turn in the 1980s during the Japanese “bubble economy.” At a time
when Japanese share prices more -than doubled, mdlwdual tycoons and

~ industrial giants alike- invested record amounts in some of the West's greatest
masterpieces. Ryoei ' Saito, for- example, pumhasad van Gogh's Portrait of

Dr. Gachet for a record-breaking $82.5 million. The work, then on loan to the

Metropolitan Museum of Modem Art, suddemy vanished from the public domain.
A representatuve of the Van Gogh museum, conceding that he had no legal

redress, rnade an ethical appeal to Mr. Sarho asserting, “a work. .of art' remains -

the msms:on of the world at large.”

- {a) Identify a word from the passage that means ‘dark' or menaclng

(b) What did Mr. Saito purchase and at what cost?

{c) Usethe word ‘masterpiece’ in a sentence of your own.
(d) What was the request made to Mr Sallo by the rapresenwﬂwe of the Van

Gogh museum? : . _ .
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SurVelllance has increased manifold: since : the 9/11 terror attacks on the World
Trade Centre in the U.S. This increase in surveillance today shapes the
relationship between the state -and the individual. The state keeps an eye on its -

- . citizens, thereby positing each and even citizen as a potential wrong-doer. For
~instance, the proliferation of the CCTV cameras in streets, restaurants and in
“every imaginable public space. In fact, the camera need not even be functional in

order to make the citizens behave themselves — its mere presence is enough to

- scare the citizens mto subrmssion Such is the powar of the mara po!ential of
o -surveillanca e

(a) Identify a word from i:ha brackats that means surveillanoe

(scrutmy. mtelilgenoe. a&ack susprc:on)

 (b) Give the antonym of pmiiferatlon

(c) Which event resulted inthe mcrease in survelilance?

- (d) What power ¢ does the. pmcass of surveiilanca possess'? o

39,

(6x4=24MarKs)

Answer any two of the foiiamng quesbons. choosmg one each from any

two Gmup

GROUP A

Read the foiiowing passage and answer the questlons glven beiow

In 1970 geologists Kenneth J. Hsu and William BF Ryan were oollectmg-'
- research data while aboard -the oceanugraphlc ‘research vessel Glomar

Challenger. An objective of. this particular cruise was to investigate the floor of
the Mediterranean and to resolve questions about its geologic history. One

question was related to evidence that the invertebrate fauna (animals without
- spines) of the Medllerranean had changed abmptly about 6 million years ago '
- Most of the older organisms were nearly wiped out, although a few hardy species

survived. A few managed to migrate into the Atlantic. Somewhat later, the -

- migrants returned, bringing new species with them. Why did the near extinction

and migrations occur? Another task for the Glomar Challenger’s scientists was to
ry to determine the origin of the domelike masses buried deep beneath the

' Mediterranean seaﬂoor
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© With questions such as these clearly before them, the 5c|ent|sts aboard the
‘Glomar Challenger proceeded to the Mediterranean to search for Ihe answers,

On August 23, 1970 they reoovared a sample

_The mvestlgators thaonzed that about 20 mllllon years ago, the Medttarranean

was a broad seaway llnked to the Atlantic by two namow straits, Crustal
movements closed the straits, and the landlocked Medlterranean began to
evaporate. 1nt;reaslng sallnlty uused by the evaporahon resulted in the

extermination of scores of invertebrate species. Only a few organisms ‘especially
tolerant of very salty oondmons remained. Later, under the weight of averlying
sediments, this “salt flowed plastically upward to- form  salt domes. The - |

Mediterranean was a vast desert 3,000 meters deep. Then; about 5.5 million
years ago came the deluge. As a result of crustat adjwlrmnts and faultmg. the

 Strait of Gibraltar, where the Mediterranean NOW oomeds m the  Atlantic,

opened, and water cascaded spectacularly back into lhe Madﬂerrahean As the

- basin was refilled, normal marine organisms returned. The salt and gypsum, the
~ faunal ohanges and the unusual gravel prowded abundant evidence that the
_ Medlterranean was once a desert. .

is the wond used in the passage for look into’ |

) 1.

2. The word m the passage ls relaied to 'the scrantlﬁc study of
oceans

3. isa word from the passage that is an antonym of gradually'

4. .'Il'ho phrase : - in lhe passage means ‘to obliterate’.

5. Usethe word spectaou!ar’ ina sentonoa of your own.

6 The synonym for mscade is
(@) steps S ® pour rapidl'y into

B -(oj rgl'itter - _ | (d) transform .

7 | is a word fmm the pasSage that is an antonyrn of ‘scarce’.
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12.

14,

Idenhfy the stalement which is true.
- (a) The Medrterranean has undergone no ehange fer millennia
_ _(b) The Medl[erranean isan ocean o - . |
'(c) The Mediterranean h'ansformed mto a desert for a period of'time -
 (d) None of these o S
~ What was the objective of the research by geo'iog.ists Hsu and Ryan?
10. Mention one of the major questions related to the above objective '
11 Accordmg to meenets what was the Medlterranean ||ke 20 m|I||on years
. ago? '
How did the Medlterranean become landlocked?
“13. _What impact did thls have ecologically?
‘What is the Strait of Gibraitar?
15. Suggesta sultabletlﬂa forlhe paSSage :
"OR
Answer all the following questlens . |
 Fill in the blanks with suntable arllcles, preposmons conjunctlons. edverbS' or
adjectives. -
1. John answered the queshon :
2. Weplayed a tough match yesterdey
3. He is talkmg about wsmng his ancestral home.
A She passed the exam - ‘ o
5. Shewalked down the road. S
6. I'm litle excited because it's Friday. There are
o lot of good shows on TV today one | usually
B watch is at 3:30. o
7., Please get me a bag of apples.

- 8.
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8. The dlnner party went

| N '9. —--— spnng arrlves we have ’no be prepared fer more snow |

41

| 10. Thlssalad is

: Rewnte as dlrected

_- 15. . Why was such a letter written by your brother? (Use a

_ Reed the passage and answer the quesﬁons glven heksw

delucnous

healthy

11. - He will ﬂmsh the work in a fortnight. (Use passmw
12. He said to me’. ‘I don’t belleve ynu (Change to _

13, Iwish | were young again. (Write an exclamatory S

- 14 He requested him to wait there till he relumed (C ar ect speech).

"OR

Paleontologists have argued for a Icng time that the demise of the dhosaurs was
caused by climatic alterations associated with slow changes in the pasitions of
continents and seas resulting from plate tectonics Off and on throughout the

Cretaceous (the last ‘period of the Mesozoic era, during which dinosaurs

flourished), Iarge sheﬂow seas covered extensive areas of the continents. Data
from diverse, sources, including. geochemical evidence preserved in seafloor
sediments, indicate that the Late Crelaceous climate was milder than today's.
The days were not mo hot, nor the nights too cold. The summers were not too

warm, nor .the wintters too fngld The shallow seas on the continents probably_- o

buffered the temperature of the nearby air, keeping it rolatlveiy eonstani

At the end of the Cretaceous the geologlcal record shows 1hat these seaways

retreated from the contments back into the major ocean basins. No one knows
why Over a penod of about 100,000 years, while the seas pulled back cllmales_-
around the world became drarnatlcally,more extreme; warmer days_ cooler
nights; hotter summers, colder winters. Perhaps dinosaurs could not. tolerate

these extreme temperature changes and became extinct.
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_ Dlssatisfadlon with cnnveﬂtlonal explanatlons for dmusaur extmcllons led to a
surprising observatlon that, in tum, has suggested a new hypothesis. Scientists '
hypothesized that a slngie large asteroud ‘about 10 to 15 kilometers across
~ collided with' Earth, and the resuiting falloul created the boundary clay. Their

‘calculations show that tha impact kicked up a dust cloud that cut off sunllght for
~several months, mhiblﬂng pl'totosynmesls in. plants; decreased surface
temperalures on continanwm below freezing caused extreme eplsodes of acid
rain; and 51gmﬁcantly raised long-term  global temperatures through the
E greenhouse effect. Thla ;:ﬁm.ptlon of the food chaln and climate would have -

'eradlcated the dinosaurs and other organlsms- in less lhan fifty years

1The synonym for*ﬁu.nish is
(@) thrive A - {b) shake
() |mpress o  (d) address

2. The word ———————— h the passage relates to the chemlcal composltlon .
of the earth and its mdm and minerals ' :

N 3. Find the word in the paw that is the antonym of hort

4. Theword ‘buffer in the pasaﬂge is closest i m meanlng to

~ (a) erupt S (b) shower
~ (c) shield (d) none of the above

5 Use the word ewdanna in a sentence of your own.

6. Identify a word from the passage that n‘léans con:-:-’equance or result of

something.’ o _
(a) fallout (b) dismal
© experience (d) none of the above

7. Usethe word' eradlcate masamaenceofyour own. .

8. Identify the statement which is true
. (a) The climate during the late Cretaceous was harsh.
- (b) The climate during the late Cretaceous was cold.
(c) Theclimate dunng the late Cretaceous was mlld
(d) None of these. :
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2.
- error, the answer is‘d’.

10.

.
12,
13,
14,
15,

'Suggast a 3u1tabie tlﬂe for the passage

: What reasons did - paleontolognsts assomate wﬂh the demlse of the

dlnosaurs’?

‘Define Cretaceous
‘What condlhons contnbuﬁed to !he moderate teﬁmerah.um of the

Cretaceous?
What happened once the sea pulled back'? _
Explain the new hypothems regardlng the extinction o:f m-s'

‘What was the immediate rasult of the aslerold s c.oilt i

GROUP B

Spot the error in the underllnad sections in the follomng sm !l there is no

_'1'.

N

gg ;g bls ||I haalt g mll not be able tg g!!e_m. ﬁg E

w&dﬂmww

No_gm’ ['
d | | o |
" He lent me s mona mg' ggh'diﬁon-:ngl" 1 should
b
. ratum E gm Nuvambg[ ﬂg Erro
' Ravi was-gpm' a ched the n Iendera d requested him
b | o
:olendhlmgmgmg ey. OEM ' S L
| _u__xntl ,wo_rk_g_fr_om__m hom .DMMM
Cw o p-3set




. “Pull it out by its plug, not by the cord," said dad. No error,
7. -Ei_mgr the cam in or someone from his crew is responsible for this mistake.
T e T b c
d o |
o 8 ha rmml;mm ﬁapk the rnonev Whlch I had spent during

our |ourns! to ,ngnm. ﬂg_m_

9 Elther L}sa orKal_'gg: jill aih

o Me_euﬂ_bm &mm
10 When she gntered mg mm- she Iggnd the child
- ‘a b
alwp_q.m_!! _m
TR _“mmy.m_m_am.m_& _n_nﬁdack complai blp.en:q:
12. _mu_u:m_ Mw_ﬂa_mout an a:gument’? No error
c d '
13 he conversahon M!tl ng; mﬂhg[ ng_d_gmfggﬂlm on her. her. No error error
- L c d

1-_4. any_of _Me ctu m:mﬂtmg.up_m

a
.15. ﬁmpjgmg of this rllness ncl;ges er, v omrtmg and ng[ﬂ]mgl l‘_\[gg
- OR
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43. Read the'béséage and answer the questions given below. _ |
_ The Alaska pipeline starts at the frozen edge of the Arctic Ocean. It stretches
somhward.across_-the lérg_e_st-ahd northemnmost state in the United States, ending
‘at a remote ice-free seaport village nearly 800 miles from where it begins. It is -
- massive in size and extremely complicated top operate. | |

- that tops the frozen ground. It weavesthmughW,myons climbs sheer
 Mountains, plunges over rocky crags, makes its way {fifough thick forests, and
S ~ Passes aver or under hundreds of rivers and streams;"A lifle more than haif of
1 the pipeline is elevated above the ground. The rs wainder is buried anywhere
S ~from3to 12 feet, depending largely upon the type of terrain &

the soil. ' ' o o Cos

One of the largest in the world, the pipeline cost approi
by far the biggest and most expensive construction: pr
private industry. In fact, no single business could raise:
major oil companies formed a consortium in order:

1. Theword remote’ in’ﬂxe:-péss_a-ge'is.dds.eét'.‘il'l.-'.rnaanln“g_-to' |

o @ 'érecu{;mc&eyice ™ unrelated .

P @ si;gap_lé____:__. ' (@) farawayfromcm : . -
. 2. The phrase 'vﬁhdSwepl’pl_afns’ in ihé i}aIQQQe is clusestiuhungto

@) unshelteredland by payou |
'(éj plateau o "(d)'mountain-
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Find the word in the passage which is the antonym of ‘molten’.

Use the word. ‘ocmblk:atod.’ in' a sehtént:e of ymir own.

: The phrase plunges nvet’ in tha passage means

(a) climbup o (b) stream by

" (c) falls over : (d) flow across . .

|s a word m the passage which means ‘bent' or ‘tmsled
The word oonsomum‘ in !he passage means. -

"(a) anassoCtatlon S (b) aoondltlon R
© aresdlt () none oftheabova

_ Use tha word treacherous in a sentence of your own.

. _,ldenufy the statemem whloh s true with regard to the Alaska pipeiine .
(a) One eompanyhoids the rlghts to it

 (b) Several gwemments together hold the rlghm
(e A consortlum of ergl-'ﬁ oII companies ha!ds lha Fights

10.
11
12,

13.
14.

ST

(d) None of these
What i is the Alaska plpehm‘) B
Descnbe the terrain on wl'ﬂch the plpellne is bunt

A consorllum was formnﬂ for the oonsh'uchon and operatnon of the p|pellne

Why? _
How is it 3|gn|f cantinterms of mze and oost”

What were the challenges, excludlng the cost, faced whlle construcung the

' plpellne‘?
15,

Suggest a su:’mble title for the passage.
OR
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2.

.. 6.

8.
9.

15,

- They travelled

) Marle was bom in 1867
_eany age, ~she displayed a bnlllant mind, {-lar great exuberanee

after high schoal

- His two favourlte sports are football

He is

o 0

11,
12,
13,

44 Answer all of the fottemng questfons Fill'in the blanks with suitable _arﬁcles,
preposmens comunctions adverbs or adjechves . B

the nver.

_ a-' kitten

My brother loves. anlmals He just brought '_a puppy _

~ home with hlm

: We could cook dm ner —————— we euuld buy some takeaway feod

Warsaw Pnland an

Iearmng prompted her to Oontlnue - her studies

Jenmfer does not Iike t'n'swim

doeeathdoycyeﬁng
veryfmmy

Intetltgent
the box. _ _
the_bed. o __ 4 -

The treasure lies -
The Gﬂate sle.eping
I wake up earty

Rewrite as dlrested

Of hIS bqih many taIes are told (Wnte In acttve verce)

Gnly the brave desefves the pralse (Cham mtu negatwe)

“Please sit down ‘said the headmaster (Ghange lnto indlrect Speech)
They proclaimed him king. (Wnte |n passnfe vorce)

His father told him that he was ashamed of him. (Change into direct speech) '
(2 x T5 30 Marks)
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Thlrd Samestar B.A./B. Sc Degree Exam lnation, January 2023
First Degree Programme under CBCSS
Language (:oursa | Addltlonal Language I - Malayalam
ML 1311 1: an:mamcemawn.uo mﬁ:@om&mgo

| (2021 A.drmssion) \ |
Time : 3Hours S . . Max. Marks : 80
-- 1 eqy maﬂﬂcma m%‘gmuﬂeelo Qmo q@wgm
1. :a;erauvaag(ﬂ.g,]' csccﬁag.pm!‘momm“?

2 memmges moas)gs mg]]e@oglaq;m smmnam% gy @essEme MReA@IET
- cﬂlcomﬁlgjlasmncm - _ '

3. moellodayal agom a;oo.umuﬂer@ co_-umgg‘ nﬂd}mmm" o@nmommwri’ ks, n.ﬁ mmdb '
aﬂr&laﬂﬂaw : .

4. _ug)onﬂ umaﬁl«:@ qg)rmgucracmoaﬂ'n@go Mm&mmo aaiﬂmﬂmﬂmwﬁ‘?
5. -' gﬁcdlcejadojlmammm oalgue: '
: manﬂaﬂ m@m&rﬁ]w&muﬂ a‘mﬂam:ﬂa |
= 8. meimgmuﬂaelad' aflaudammo mm%da '
'- Who will bell the cat? |

7. ‘oo’ - agm R ) msmﬂmﬂglgom mmmmmcﬁ n@mweﬁmﬁmmam
od.all Uaamdb aﬂmmcoq;m“?

. PT.O.



_ nﬂmmﬂgmmmmm-«ﬂﬂaaﬁou% ,. |
.mymrﬂmmw& FR '

@R Mo mmmonm,g e.ruq mm.so mmm nﬂmmﬂamnwmng

10.
(1) Avenye - aﬂegqym | |
(2) @mywadenn - mmopdene

11

AWOW aiGo mﬂmamsgasu&

(10x1=10M¢rk|)

. Sﬂ moacﬁm% mﬁ:maszrm ng;maaslego ag)g) 62153 éwrmq'i‘ Wma
.mmrwom,wlm wmﬁ!uoﬁﬁ L0 ng)vgmgmmr agom n_laec wo@maemmi' og)d-ﬁ' "

12.
13.
14.
15,
16.
17,
18
19,

20.

mMmm@w o@tmddhummﬁmmcaﬂrmws;mw .
10 ng)-f;uﬁlw @R o@%mﬁ cmoa‘lasg:m«ui?

 eoosadlecy amosrd @lgynat agem amonueflom  destoaiaral mﬂmm»gﬁmamf :

a@smm‘?

oﬁmmmmmodug)mw
' menrmcmﬂ.gq! agm a&Mo wg«ue:agrdlaf n.ﬂm'ﬂm.l w agye? _
-umm@o@moﬁmmwm n@mnﬂmmm‘mﬂ' '

ng)smmmnam Yemdiga’?

ENBOROETD chrmmo mc@ :q;mm cu:;ormgougﬁdlmrm mgsatm
a%mgndb maﬁﬁ«mmﬂm nuouﬂmnsmn.mmi‘ n@mgmmi‘? -

n.lowyrmf m.lgmn mw oy @oeslamo mmmaﬁ
af)NLEIHOENBOENS mgmmoﬂmﬂﬂl_gm“i ' -

' mﬁmmacwn £.2gMEae a@nmommomi‘ oﬂaﬁ'snagmmmcﬁ mmgamaﬂ n.nuugrmm“? B




21,

23.

24,

26

mo[n;p[mr_m ojlmfhmmmsumﬁ qe;cmmamcﬁ B&MSGJOCDSI maqvmam&aa mmmm
qg)cmgmm"? : : :

: m@@ﬂmﬂmms ojlmémmmﬁuf msmg,;o gerraoa;acﬁ': ag)mmoeaa @aﬂm"

onwﬁ eqvaniavd  maio cuW nﬂeja:s‘pcmo mmﬂanmunegaswmmnn'

' mocq;rmmi‘ ng)amgmaaasrﬁ” _ .
’ scnmocmcmmf'amﬂmp ag)om (QJG@OCOD Gch:OGTIi cemaa:db m&mmm«nm’i’ ng)crd"P

mpmtamymnm @m‘;mﬂam moeu, m;mo@coomsmo% oggemgoo‘?

,mmmmm 91_7‘9 mtwgm @B Agaﬂmoam_gan rumemrﬂnesm% mealow

o "Uw[cwmmm mmﬂmﬁ' gentoy’ msrd' ng)cmoorﬁ' @peEgado _-ugsrﬁ!eeaosnﬂ_y Qug®?

(8><2=16Marks) B

100 anssiab solwoow @0y G0y SEmo Am(_mm.

mmomr!‘ mﬂn.ﬂwgss | BMOCLERMHEOE! | SHI000I0(@EMBA . MIBILOHMODI0
mmm&mqnwﬁmmmeﬁsmﬂﬁ" QGYIDYEIS06TE? : S

 “@osEem m a@v;m w&glrﬂ @oge Qmaomﬁ - agomoeT @R mugo'! oY mgmﬂni‘

£006MB6ID Wmmmm s@racaal aﬂrﬂanﬂssgm“?

aflesegies ms&uﬂm Wm m:ﬂnnrﬂxnegrmmﬂm mmmmﬁ (n.lmﬂnbc@'ltm
mmﬁﬂlmmgﬂ!«uamo MGYONIBO .

edoamTiian mﬁnﬁl_g‘;mm;m me; wmpmgrrn gn_tmmm nuummﬁ_f;,]‘ slogy
' gmmomm

. eaws. m.ﬂmy% a @RoasUESO0 rmoemnuily 'am,; wflaiod  @D@IRRAET

ojla‘pa‘;armmpcnam gﬂammnnaﬂwcmaﬁl almolmmaoe mmmamﬂ

.'wm@&aemamwammm@amm@

. @peamau, 8B ITOMUS, Mrmnuﬂ o@mﬂm og)nmmnrm Qammsmmmﬂmw
ojlmdlua:dlam;aa

. nﬂp_a_[m, ce‘p@m agyiicu Qeoanmamunrﬂmo al Jmmwep,ﬁ _
: W@Wo og)m'mm% ag)s? qg)mﬁmo'? geanntﬂaema; |
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35.

36,
37,

38,

V.
'39.

40,
- 'mgsmmagwgo @,rﬂ_g; cam.asmzm»o n.rlmmq;nnm QgeImE00?

41.

42,

43,

muq:bio Qﬂwﬂc&(ﬂm& :

: 'mmmmmammmmﬁlmdm«meq<

mwmnﬂ‘; nqmmmﬂm:m QLIBREMC’

orrgmanjlmlhmrmmmﬂmnﬂmgo avjmmojlmibwm A)ETBOM mém‘;anmﬁ:lg'lrﬂm _

og)m) oﬂmdmﬁaegaa

mgmﬂm& mmmgo anomfﬂasgmmges mwomcmsammﬂsx@ Mmm ng)mi'?

mq@sx@mmhmmﬂa@ {n..lm}:mﬂ rmgmom @-u uumsmmelmmﬂelwamn sao@am&
o@nmoan o njmlammo‘? . . _

(6x4= 24 Harkn)
230y oJanrmﬂm‘ﬁ aafloonm agameslego oens) c.n.:sa;maﬂcﬁ gmmmmmw;m&&.
marcmogmd?ae.l weny BRME@HWD. ge;\nﬂmammndlmo oﬂcmda&(ﬂasgm
ED@IBAO m;gosrﬂlmr@ Daflanomo  agm enaijeaimgy  aflmieel mmgmgo

ﬁcﬂkeagﬁs anﬁcgmﬂﬁlm muﬂgj}lacgrm njlmémqms mé]mmm:xﬂmmm _
@Eoendalsmevasyes  (edmodeen ‘moeledanal  egm &A@  agsTBOHM@OET

(ialenoulleaime? ass.all mms)@ a1OMOE @oLIm00Mma0es] cﬂmm«m

@l o@mikri’ ag)R@emo? ag)masam ng}s’gma‘no‘? og)nmﬂmmmgcﬂ.g‘ aesacueaal
DAMOJEUGY™ ofldleriemensd afleiwfieyemies.

_'mpm;cﬁ BOAOW afNlem@osnane a@mmwgao mma'nrrmnn nq;n ogy:& mmc:gdl
_ moﬁ»‘g(mmi‘? o

w0

RO E6S njlmﬁmmmvﬂnﬁ rruoeojlamn.gm mmmamﬁ n@mmm"

2 0OBIDEM rmé}mmnmmdl OJMM&
(2 x 15 = 30 Marks)



(Pages:4) -~ P-3570

Thll’d Semester B AJB Sc Degree Exammatlon, January 2023
- First Degrea Programma under CBCSS _
. 'Language Course Addltlonal Language Hmdi

HN 1311 1- HINDI NATAK VYAKARAN TATHA ANUVAD
' (2020 Admlsslon onwards)

.Ti-mé"é'.Hours R - N : _ | Max.M_éfksfSO
ol | mmﬁuﬁﬁm%ﬁm - |
1 w*qﬁmmmﬁaﬁtwmmmm? :
2. ammﬂxalﬂ?ﬁaaﬁﬁdakﬂ#miﬁﬁiwﬁwf-
3 Hﬁﬁ%ﬂnmmm%ﬁmﬁﬁﬂmm&m -
4 mﬁ:wﬁrﬁmﬁg?' N |
'5,'_-igmamﬁﬁﬁﬁmmaaﬁwﬁﬁmﬁm;
6. mﬂmmﬂi%?

7 aﬂﬁw&wmimﬁﬁﬁ%m%ﬁql

| 8 ‘Wﬁﬁmﬂﬁﬁ‘ﬂl%? :

9 s i - *qzammaaﬁmgm?
10, mnﬁwm%@m '

. (1o><1='1i1 Marks)

~PTO.



11.
12.
_ .
1.
15.
1-6.:'
17.
18.
119'._'
20,

21.

ot 73 et 5 v (ot 50 ) o

é\%mﬂagﬁa@nmmﬂﬁﬁﬁﬁh_mm _

a-gmé mﬁmmmﬁmﬁmm%&mmwav

:W%maﬁﬁm%mmm ng;aﬁﬁmaﬁma? ‘
'-@qugsmmasWﬁmﬁw

mm.ﬁm%_mﬂﬂ?‘ma&wm&@eﬁ??

w@%wﬁrﬁa‘ﬂéﬁsﬁﬁaﬁ%%wmm .
mm%waﬁﬁ%? WMI

.m@%mﬁwﬁmmmaﬁm

@ -tqnﬂmr:ﬁil'

23.
24.
- 25,

 26.

by 3 v e
_ aﬂmmﬁ?éﬁ%i?aﬁﬁaw—w%?
'mmwmm:ﬂ%m "

mﬁ%m%ﬂmﬁ:ﬁﬁmaﬁmwmr _

:'wmﬁmﬁwﬁ:aw—w ﬁwﬁ? '

mﬁftmmm%ﬁmﬁﬁa%ﬁw—wﬁ?mmt

(8 x2=16 Marks)
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27.
28,
29,

30.

31,
-3

33,

35.
36
37.

38.

39,
40.
a“

42

'_fﬁré‘lﬁ m’i%m(ﬁﬂa 120:r£iﬁ)ﬁl’rhq-
'agﬁﬁ#qﬁanmauhaﬁml

W@ﬁﬂm%mﬁﬁam—wmmm%?

' mﬁﬁﬁﬁﬂmﬁm-maﬁ@i?

wt’ amamﬁﬁm '

~W%i&ﬁugrﬂ§zﬁmmtﬂ%?aﬂwmwaﬁﬂﬁﬁ%?

@ﬁm@ﬁmgﬁ ﬁtaz%ﬁmﬁan? B

-

_‘ﬁ m#mﬁﬂﬁmﬂm%ﬁt{l

' .'m#ﬁa-mﬁamaﬁmmaﬁm '

aﬁmﬁmmﬁm&ﬁ:ﬁwﬂmﬂﬁm '

ﬁfrﬁ‘axmmsrﬁﬁifanﬁﬁaﬂmﬁmw-wﬁmﬁ?_ '

"mﬁmﬁmmWﬂﬁq{maﬁm

wﬁqﬁ%mMﬁ%mﬁ%i?meﬁMI |

"wmhmmmiumm-ma@amﬁ wmaﬁzaqﬁésﬁw%zw?'

(6 x 4 = 24 Marks)

. Mﬁwﬂ%m(ﬁazsomﬁﬁ) fﬁﬁm

agméiﬁwﬁmﬁ:ﬁamﬂ?ﬂ%sﬁmwﬁﬁamﬁwglwml
mﬂmﬁmﬁmﬁﬁﬁnmﬁaﬁﬁﬁﬁm
ﬁm@mmgmﬁammm|

ﬁrﬁamﬁrﬁq{ﬂﬁ%mﬁﬂwﬁm
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43. T ¥ sigawe Hif)

_ Scholars'of ancient History are of opiriion that India had trade relations with foreign - B
countries even before Christ. According to some scholars, the renowned Sanskrit poet -

" -Kalidasa flourished one hundred years before Christ. From the evidence of his worid
famous drama ‘Abhunanashakunthala we come to know that india |mported silk from

~ China. Our export 1rade in those old days was- fetchmg enormous wealth of gold and

-~ silver. Itis why India was known to the forelgners as ‘a bird of goid’ exporting cotton
cloths to countries like Persia, Arahia and Egypt. When the Engllsh people came here,
the':\ar found that our people could prepare. the fi nest linen in the: world '

: 44, 'mﬁm afa ﬁa‘mﬁ\‘ml
(2 <15 = 30 Marks)
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Thifd Samastér B"A.'Deg'rea Eka'niination,- Jan'uar.y' 2023.
| | Flrst Degree Programme_ Undar cacss |
" ~ Political Sclence
_ _ Complemantary CQurse III H
: PS 1331 PUBLIC ADMINISTRATION

COmmon For Phllosophy, Economics, History, Engllsh
‘Islamic History, Sociology

| _. -:(201_9 Aﬂmission_Onwil_rds). _ |
Time _:'3h'l-:1dur3. ' _. . - ' o _ B Max Marks 80
| ’ - PA_RT-_I o
Answer all "qué.stiohs each in qne:_br two sente_'nm.. Each que_stl_oﬁ carries 1 mark.

1. Unity of command

2 Delegation _

. .3.. ."Auﬁliary agency o

4. RTI Act, 2005
' 5.‘-..'Publlc revenue _
_6..' ' __Politics'dadminist_ratian dichotoniy_I
7 Racmit(n-'ent.. - -

 PTO.



8. Staﬂ' Selectlon Commlssron |
9'. Apprcpnatmn Bll]

10, District Collector | | |
| : | (10 x 1= 10 Marks)
PART-—II' ) |

o .Answer any elght questlons in a paragraph Each questlon carnes 2 maﬂ(s
11. Dist:ngursh admlnlsb‘atwe development from development adrmnlstratlon
12, Whatis the lntegral view of pubilc admimstrafmn’? B |
13, 'Defne ‘span of contml N _ _
14. Dlscuss cumparauve public administration. .
15. Brleﬂyexplain New Pubhc Management A o I:
16. What is surplus budget’? ' S -
17, What was the outcome of Mlnnow bmok Conference (1 968)'? .

18, Whatis POSDCORB? |
19. Define publnc adrmmstrallon _ .
20, Whatis tha objectwe of performance appra:sal?
| 21 Elaborate SMART governance :
| 22 'ldentufy four bases (4Ps) of organlzatlon
23. Define supervrsmn _
24. What is the function of line agencies? |
| 25 Briaﬂy explain apaeplan_c:a theory of authority.
26. What is the role of Ministry of Finance in budget enacment? \
| |  (8x2=16Marks)
2 S P-3661



28.

.

a4t

'-PART- 1}

s Answer any six questloné each in 120 words Each questlon carries 4 marks

Bneﬂy explaln the nature and scope of pUbIIC admmlstratlon
Examine the expenence af decentrallzed gevemance in mral Indla
ldentzfy and explaln-the stagas in the enactment of,budget-ln I_ndla.

Which are the lypes of tralnlng? Explaln

. Deﬁne hlerarchy Explaln rts advantages and dtsadvantages -

Bneﬂy explaln Weber S claSS|ﬁcat|on of authorlty

- Gorruphon com:nues to perStst in Indlan bureaucracy Cemment
Write a short note on e-Govemance and its advantages. |

'."Gi,ve_ an account ef_':functiens' of Chief Exeeuli_ve in an organizaﬁen..' :

Examine the causes of line-staff conflcts. | |

‘ Wnte a short note on F W nggs oon!nbutlons to pubhc administration

g _D:scuss Henry Fayol s fourteen pnnmples of admlmstratlon

. (6x4=24Marks)

PART - IV

~ Answer any two questions. Each quest_ie'n carries 15 marks.

‘What is good govemance? E_xamlne'its basic _tenanis and ap_plicaiioné;.

EXpIain the characteristics:of ideal bureaucr"acy.preposed by _Max Weber.

'_':Compare the advantages and dlsad\fantages ef ‘centralisation .and.
B _decentrallzatlon : . B

3 o - P-3661



42,
43

44,

How does publlc admlmsh'allcn dlfferent frcm publlc admlnlstratlon’? Compare

: their features Examina impact of globalization on both

Explaln the Dl'lgll'l and evolution of the dlsclplme of Publlc Admmlstratlon

Dlscuss the composm_on, func_ﬁ_ons and criticism of UPSC-.

(2 x 15 = 30 Marks)

B . P-3661



(Pages:y  P-3650

Thlrd Semesl:or B.A, Dagree Examlnatlon January 2023
Flrst Degree Programme under CBCSS
' ~ Economics

- _ Foundatlon Course i

EC 1321 INFORMATICS FOR APPLIED ECONOMETRICS

- ' {2019 Admission Onwards) '
Time : 3‘H-(.J_'lljrs - ! | | S ~ Max. Man_ks'. : 80

| SECTION-1 -
:_ Ansi_f_vér all q'uéstions.' Answér in one or two sentences.
1 or . _ : _

2. Blogs

-3 INFLIBNET

-_4_._ E-books

5. Pooled data
6 SRF
7. -. E_conbrhic rﬁodell' '

' 8, | Error term.

B o . PT.O.



9. Point .estimator

10. .Dataset _
. (10 x 1 = 10 Marks)
SECTION_II ) o o .

~ Answer any elght questlons not exceedmg one paragraph Each questlon eames

. 2marks.

11. What afe important pnline-feaouroes?. _
12 Whét'is m_}eant'by Infennati.en_ Networks?
13, What do you mean by an econoh‘iic model?
,' 14. Define the Principle of Laast square '
15. Distlngmsh between Speelﬁcallon stage and esllmatlun stage\
16 ' Dlﬁerentlate between regressmn and correlatlon
17. What are the various types-pf -data? _Explaln.
18, DiSﬁnguish betwean the paramet.e'r and.s'ta.ti'stic. |
1.9.- ;What is meant by Detenmmsilc relatlon? |
20. Descnbe the Ratlo scale '
| -21. Dls’ungwsh between theoretical and appl:ed econometrlcs
22, Wnte the |mpI|cat|0n of forecastlng
23, Define hqmoseedas_tfr;lty. _
24. What are the features of normal distribution?
25. Explain the concept of unbiasedness.
26. .What-is meant by degrees of freedem? B

(8 x 2 = 16 Marks)

2 : | . P-3650



SECTION— mo

Answar any six cf the foilowmg Each answer should not exceed 120 words Each
qucstion carries 4 rnarks .

oo, _What is MOOC‘? Discuss rmportant characteristics of MOOC
28, lea an account on the nature and use of Podcasts.

'és.- Discuss Ihe advantage of open resources. |

30, Explam the Meanmg and objecilves of Regressnon analysis.

31, Descnbe ths ccncapt of goadness of fit of rsgressuon line.

__3_ ..

Discuss the imporiant assumptlon about U in econometncs -

'Pumt out ihe maln application of negnsssucn Anaiysm o

| 34. Expiain ihe s:gnrﬁcance of Stﬂ‘bstii:al analysis

35 Why does aoonomemcs is separa_te discipline? Discuss.
. Explain the features of Greti - |

T -.Dascnbe the uses of SPSS.
38, .Dlscuss the meanlng and S|gnii' cance of Conii dence Intemal |

| o - o (sx4_'_=24||iiarks) |
"SECTION — | ' :

¢

o 'Answer any two of the foIIO\mng Each answer should not exoeed 4 pages. Each
- "questlon carries 15 marks - _

Expialn the role cf iCT In Economics

'40 Whai is Economeincs‘? State and expiain ihe steps of acunometncs methodciogy
~ with example. :

3 - Pp-3850



41.
42,

State and pfdvi—i_ the GaUSs Mﬁrkov_ theorem.

Discuss the signiﬁcanc:e and 'pfoéedure of hypotheéis testing in econometrics.

Critically examine the use of 'stétisﬁcal software in social science rg:éeérch. -

Fit a regression line for ihe-foﬁowing data and _int-_ar;_irat the [esdl_ts. o

CXvess Ex-w  Xo-vReme

COY(X-%P=218 Z(}f';f_)(v—?')"=247 n=8

(2 x 15 =30 Marks)

4 o - P — 3650
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Thlrd Semester B.A. Degree Exammatlon, January 2023
- Flrst Degrae Programme under CBCSS |
' Economics o
o Core Course III
EC 1341 - INTRODUCTORY MACROECONOMlCS
(2019 Admission Onwards)

Timef.3H0ufS_' _ . : : - 'Max.Marks':BO.
SECTION-—' I =

. Answer all questlnns Answer in one or two sentences
~ Macroeconomic mcdel '
Boom
Gonsurnptidn " _
Aggregate output
" Broad mene} o
Selective credit control
. Autonomous consumptlon _
Investment mulhpller '

© ® N O O s W N =

. Automatlc stabilizers

-
o

- Money market equahbnum' . ,
- (10 x 1 = 10 Marks)

P.T.O.



_',SECTlc:nN -

2 marks.

BETY

12,

.13‘...

14,
15.

- 16

17.

18.

19.

20.

21,

22

23
24,
25,

26

Distinguish between exogenous and endogenous variables.

Define oonsurf_]pt_ion' fdﬁcti,on.
What is the qqnsumpﬁon-sfnopthing model? Dis_cils;s. _-
Explain the GDP deflator.

What are the crédit market 'constrhint?."

Dlscuss the open market upemtron

Write a note on investment and smoolhmg

"Dascrlbe the Nash equ:ltbrlum

.- What is rneant by bank balance sheet'? |

.What are the factors affectlng consumptlon? o
:W,hﬂt is meant by ba_lance of pa_ymgnts? ‘ o

' '__F_icplain the types and determinants of investment.

Define disposable_'.income'. o

Describe the accelerator.
_.Desc'ribe t_he' Keynesian economics.

Define Structural unemployment.

'Answer any alght questlons not exceedmg one. paragraph Each questlon carrles '

(8 x 2 =16 Marks)

. p-3651



| S.ECTION -m

Answer ar'ly slx of the followmg. Eac.h answer should not exceed 120 words _-

Each questlon carries 4 marks .
) | 27. Discuss the differenoe between mu:rc economlcs and macro eoonomlcs
28, IIIustrate {‘ho clrcular flow of i mcome and expendnture |
29, How do people deal W|th the Household shocks’?
30.. Distlngulsh between ihe nature of money and wealth
| :3'_1-. Explam the fmpatlence and the dlmlnlshmg marglnal returns to consumptmn | o
32 ' D!scuss the tools of monetary polrcy - | ' | |
._ 33 Briefly _explam _th_e so\tere_lgﬁ gebt crisis. | _
4. illt'jst.i'a'te 5nd explain the Key'neslan Cross diegrams -
35 Dlsmss the Keynesuan theory of Demand for money
36 Descnbe tha maln proposmons of ISLM madel.
B '37. ~ Explain the oonoept of crowdlng out effect
'. 38'..",:'I!fustrate the factors shlﬂlng the IS curve.
| (6 «d=24 Marks)
SECTION IV | .

"Answer any two of. the fonowlng Each answer should “not. exceed 4 pages.
g -Each quesllon carries 15 marks. , .

39. How ‘economies fluctuate between booms and reoesslons? Explam ItS
|mpl|cat!ons . S _

40. Critically exarine the nature and significance of credit market.

s P - 3651




.
4.

43

DISGIJSS tha 5|gn|ﬁcancl of caentral bank on stablllsmg the economy.'
How doas Keynes cnttcisa the Classical rnt:del? Expémn
Exarrune the meanmg, tools and types of fiscal pnhcy

Denve and explaln the IS LM curve wn!h comparahve eq unlnbnum s1tuatlons

(2x15=30Maﬂcs).'-.
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o Thlrd Semester B A. Degree Exammatlon, January 2023
' First Degree Programme Under chss |
| | History |
| Complementary Ceurse V |
HY 1331 1 HISTORY OF MODERN {NDIA (1921 1947)
(For Economlcs Islamlc Hlstory, Soc!ology and Phllosophﬂ
- (2019 Admrsswn Onwards) L
_"rirrie'-:'a"l-loﬁrsf o o ~ Max Marks : 80
Insh'ualons Answer can be wntten ejther in Enghsh orin Malayalam |

PART A

Answer aIl the questions in one word or in one or. two sentences Each carries
A mark, o

4 Sayagena

N 2. Alllndia Trade Union Congress:
' 3 . Hr'nd SWaraj |
4 _The Amritsar Tragedy
5. '_ Lahora Congress of 1929 . |
6 CRDas B

-~ PTO.



“10.

~ ReshBehariBose

- Rajguru. -

" Harijan

Ramsay Macdonald
| (10 x 1 =10 Marks)

S D PART;'B

Answer any eight of the followmg in one paragraph each Each queshon carries
2 marks ' _

-
12,
13,

14

16,
17
_ 18,
19.
20.

21,

23.

The Round Table Confarences
The Hlndustan Soclallst Republlcan Assoc.ation B

“AllL India Schaduled Casiaes Federatlon

Provinclal Aulonomy in the Govwt. of India Act 1935

"Dr Ram Manohar Lohla '
'_.C‘apialn_Lakshml_ '
- August Offer

Jawahaﬂal Nehru

Vinobha Bhave

LalalajpatRal
‘RALN. Mutiny -
'Azad Hmcr Fauj

-Telengana Struggtes

2...‘ . o -p_-.3342



24,
25.

26

Jai Hind
V.D Sayarkﬁr '

Choudhry Rahmat Al

PART—C”'

carriestlmarks I -

Y
28
2
a0
3t
-
33,
34,
38
'3_7.

38,

The Temple Entry Proclamation of 1936

_Tha anti -caste movement under Dr. Ambod kar

The I_ndla-n_. Independenice _Acl

F‘eopié's Siroggla in Priﬁcaly Sfateé

: Tho Slgnlﬁcaﬂoe of GMI Dlsobedlenoe Movement

Poona Pact

Jalllanwalah Bagh Tragedy

'The A!I tndla Kisan Sabha o

Grow!h of Hlndu Communahsm

Khnlafat Movomont
-Direciive Prmcipies in Indlan Constltutlon

The SWEII‘EIJ Patty

(8 x 2 = 16 Marks)

~ Answer - any slx of 1he followmg in. not more than 120 words each. Each quostlon

(6 x 4 = 24 Marks)

- P-3842



39,
40.
41
42

43.

"~ PART-D

- Answer any two of thé following. Each 'question carries 15 marks.

‘ Writ_e_ an éssay on the Non VCdop:e'.ratioh M_;overheht._

The EVents_ that led to the -;)‘artifioh'; | o,

Write an. eséay on the groyﬁh of revdlufi_ohary 'na_tional'i'sm -in__lnﬂié.
Thé'Rgorganisatior_l of States on Lingi.l_i\s-tié' Basis. _ |

Writé an gssay 'on'lthe e'rﬁerge'ncé of Sc;cialists_in fndiaﬂ National Move_mént.

The Signiﬁ_cance'bf Quit India Movement. R
' ' : (2 x 15 = 30 Marks)

4 - . p-3642



